normalized X?

[ normalized x? probability |

chiz chiz_prob
Entries 477 =] Entries 477
101 Mean 1.346 Mean 0.376
E Std Dev 0.7615 1 . Lstd Dev 0331
i hiz PR
—2 Entries 477 Entries 477
10 Mean 1.346 Mean 0.376
Std Dev 0.7615 Std Dev 0.331
chi2 i chi2_prob
1073 Entries 780 _[Ermes 780
Mean 1.348 ! | Mean 0.3756
Std Dev 0.7643 + | stdpev 0.3296
I
2
478
1.345
0.761 0
I e
o +) T
=1 TN
© | | i
TN
4 (TN
T
HIHIr
: : : : : : ”|”|I””|”I”|”|
R T Attt
0.95 0.95/
0 2 4 6 8 10 12 14 16 18 20 0 0.1 6 0.7 1
x? Prob xz)
5
T . s °F [ ]
] R PEEE RN MR LR > E 3 i
. . A AF- it
R FREEEE IEEERETY TETE FREEED - X k
S | AR E RS
......................... o E 3 ]
1 . 2F- M1
L H L ) 3 1l
0001 "ROUODD0O0UT__Global_—mKHtOrigmar__RECO

Ratio

< x2/ ndf >

Ratio

<dpp. > (%)

s DQM_V0001_R000000001__Global
e DQM_V0001_R000000001__Global

DQM_V0001_R000000001__Global
s DQM—V0001_R000000001__Global

mkFitNew__RECO
mkFitNewHpTt__|
mkFitNewDetq__RECH
NewDett _RECO

mkFi

REC

[e]e)

aL E T
3 =1
1.9 u | 1] *l *{ E
L .* it + 2
: -3F-
[oF:| SEEEEE-TEEREFES Y SEEEEEEE-TETEES B E
—4F-
[N SRR TR R T R EEE R P TP PERE PEEE E
L o 1D
T
o
1= il
09532 1 2 3 R R 0 1T 2 3
n TP n (PCA to beamline)
9| A E
2 18F-
25 < 1.6f-
v o
1.4~
2| 1.2F
-
1.5] 0.8F-
0.6F
1 0.4F
0.2F
05 o GF
T
@
1 0.5
10 1 l 1(l)2 (0 1C0'3 1072 107t
&T AR(track, jet?
R [REE | X | EIRS
af AT
ofeee Sl AL
) R S| IR SRR
S o | 41131 B L
1L | |
e Lkl
0.8f-----rnor-- | AEEEEEEER
06f-nnnnmmen 1 AEEEEEEES
107 1 10 10%



	Contents
	Page 1


